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leV = 1.602 x 107"%oule, 1MeV = 10%YV,
lkg = 5.611 x 10 MeV/c? = 6.02 x 10*¥amu, lamu = 931.49432 MeV/c?
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00000 :me = 0.91093897 x 107* kg = 0.000548 amu = 0.510459MeV /c?,
00000 m, = 1.6726231 x 107 kg = 1.007277 amu = 938.272804 MeV/c?,

0000000 :myg = 1.007825 amu = 938.783263 MeV/c?,
O00000 :m, = 1.6749286 x 10727 kg = 1.008665 amu = 939.565718 MeV/c?.

1. 000000 GH=D)00000000 BEOODDOO AM, 00000 AM/M

0000000000000000 M(D)=2.014103 amud 00O
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000000000 230000000 M(U)=235.04392 amu0 O OO
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1.000 7z, 0000 NOOOOOOOOOOO AM(Z, N)O00O0O00O
AM(Z,N) O ~ Zxmy+N xm,— M(Z, N)
— AM(D) = [1x1.007825+ 1 x 1.008665 — 2.014103] x amu
= 0.002387 amu (1)

000000 AM/M = 0.002387/2.014103 ~ 0.0012(= 0.12 %) 000000000
00000000

B.E.(Z,N) = AM(Z N) xc*
— B.E.(D) = 0.002387 x 939.565718 MeV
~ 2.2 MeV. (2)
2.000000
AM(U) = [92 x 1.007825 + 142 x 1.008665 — 235.04392] x amu

= 1.915075 amu (3)
000000 AM/M = 1.915075/235.04392 ~ 0.008(= 0.8 %) 000000000
000

B.E.(U) = 1915075 x 939.565718 MeV
~ 1800 MeV. (4)



